
Solving the quadratic equation: x 2 − 10x + 25 = 0:

Recall: The Quadratic Formula says r1 and r2 are the roots of:
ax2 + bx + c = 0

r1,2 =
−(−10)±

√
(−10)2 − 4 · 1 · 25
2 · 1

= 10±
√

100− 100
2

= 10±
√

0
2

= 10± 0
2

= 10
2 and 10

2
= 5 and 5

The solutions to x2 − 10x + 25 = 0 are: x = r1,2 = 5, 5
Recall Since 5 is repeated, we say that x = 5 is a zero of multiplicity 2.

The reason the two roots are the same is ±0 gives the same number
Having ±0 was a result of b2 − 4ac = 0

http://coobermath.com/Quadratics/Solving_1_Variable/Quadratic_Formula/Building_Quad_formula.pdf
http://coobermath.com/Quadratics/Solving_1_Variable/Factoring/Define_Roots.pdf
http://coobermath.com/Quadratics/Solving_1_Variable/Factoring/Example_4_mult.pdf


Solving the quadratic equation: x 2 − 10x + 25 = 0:
Recall: The Quadratic Formula says r1 and r2 are the roots of:

ax2 + bx + c = 0

r1,2 =
−(b)±

√
(b)2 − 4ac

2a

r1,2 =
−(−10)±

√
(−10)2 − 4 · 1 · 25
2 · 1

= 10±
√

100− 100
2

= 10±
√

0
2

= 10± 0
2

= 10
2 and 10

2
= 5 and 5

The solutions to x2 − 10x + 25 = 0 are: x = r1,2 = 5, 5
Recall Since 5 is repeated, we say that x = 5 is a zero of multiplicity 2.

The reason the two roots are the same is ±0 gives the same number
Having ±0 was a result of b2 − 4ac = 0

http://coobermath.com/Quadratics/Solving_1_Variable/Quadratic_Formula/Building_Quad_formula.pdf
http://coobermath.com/Quadratics/Solving_1_Variable/Factoring/Define_Roots.pdf
http://coobermath.com/Quadratics/Solving_1_Variable/Factoring/Example_4_mult.pdf


Solving the quadratic equation: x 2 − 10x + 25 = 0:
Recall: The Quadratic Formula says r1 and r2 are the roots of:

ax2 + bx + c = 0

r1,2 =
−(b)±

√
(b)2 − 4ac

2a

r1,2 =
−(−10)±

√
(−10)2 − 4 · 1 · 25
2 · 1

= 10±
√

100− 100
2

= 10±
√

0
2

= 10± 0
2

= 10
2 and 10

2
= 5 and 5

The solutions to x2 − 10x + 25 = 0 are: x = r1,2 = 5, 5
Recall Since 5 is repeated, we say that x = 5 is a zero of multiplicity 2.

The reason the two roots are the same is ±0 gives the same number
Having ±0 was a result of b2 − 4ac = 0

http://coobermath.com/Quadratics/Solving_1_Variable/Quadratic_Formula/Building_Quad_formula.pdf
http://coobermath.com/Quadratics/Solving_1_Variable/Factoring/Define_Roots.pdf
http://coobermath.com/Quadratics/Solving_1_Variable/Factoring/Example_4_mult.pdf


Solving the quadratic equation: x 2 − 10x + 25 = 0:
Recall: The Quadratic Formula says r1 and r2 are the roots of:

ax2 + bx + c = 0

r1,2 =
−(b)±

√
(b)2 − 4ac

2a

r1,2 =
−(−10)±

√
(−10)2 − 4 · 1 · 25
2 · 1

= 10±
√

100− 100
2

= 10±
√

0
2

= 10± 0
2

= 10
2 and 10

2
= 5 and 5

The solutions to x2 − 10x + 25 = 0 are: x = r1,2 = 5, 5
Recall Since 5 is repeated, we say that x = 5 is a zero of multiplicity 2.

The reason the two roots are the same is ±0 gives the same number
Having ±0 was a result of b2 − 4ac = 0

http://coobermath.com/Quadratics/Solving_1_Variable/Quadratic_Formula/Building_Quad_formula.pdf
http://coobermath.com/Quadratics/Solving_1_Variable/Factoring/Define_Roots.pdf
http://coobermath.com/Quadratics/Solving_1_Variable/Factoring/Example_4_mult.pdf


Solving the quadratic equation: x 2 − 10x + 25 = 0:
Recall: The Quadratic Formula says r1 and r2 are the roots of:

ax2 + bx + c = 0

r1,2 =
−(b)±

√
(b)2 − 4ac

2a

r1,2 =
−(−10)±

√
(−10)2 − 4 · 1 · 25
2 · 1

= 10±
√

100− 100
2

= 10±
√

0
2

= 10± 0
2

= 10
2 and 10

2
= 5 and 5

The solutions to x2 − 10x + 25 = 0 are: x = r1,2 = 5, 5
Recall Since 5 is repeated, we say that x = 5 is a zero of multiplicity 2.

The reason the two roots are the same is ±0 gives the same number
Having ±0 was a result of b2 − 4ac = 0

http://coobermath.com/Quadratics/Solving_1_Variable/Quadratic_Formula/Building_Quad_formula.pdf
http://coobermath.com/Quadratics/Solving_1_Variable/Factoring/Define_Roots.pdf
http://coobermath.com/Quadratics/Solving_1_Variable/Factoring/Example_4_mult.pdf


Solving the quadratic equation: x 2 − 10x + 25 = 0:
Recall: The Quadratic Formula says r1 and r2 are the roots of:

ax2 + bx + c = 0

r1,2 =
−(b)±

√
(b)2 − 4ac

2a

r1,2 =
−(−10)±

√
(−10)2 − 4 · 1 · 25
2 · 1

= 10±
√

100− 100
2

= 10±
√

0
2

= 10± 0
2

= 10
2 and 10

2
= 5 and 5

The solutions to x2 − 10x + 25 = 0 are: x = r1,2 = 5, 5
Recall Since 5 is repeated, we say that x = 5 is a zero of multiplicity 2.

The reason the two roots are the same is ±0 gives the same number
Having ±0 was a result of b2 − 4ac = 0

http://coobermath.com/Quadratics/Solving_1_Variable/Quadratic_Formula/Building_Quad_formula.pdf
http://coobermath.com/Quadratics/Solving_1_Variable/Factoring/Define_Roots.pdf
http://coobermath.com/Quadratics/Solving_1_Variable/Factoring/Example_4_mult.pdf


Solving the quadratic equation: x 2 − 10x + 25 = 0:
Recall: The Quadratic Formula says r1 and r2 are the roots of:

ax2 + bx + c = 0

r1,2 =
−(b)±

√
(b)2 − 4ac

2a

r1,2 =
−(−10)±

√
(−10)2 − 4 · 1 · 25
2 · 1

= 10±
√

100− 100
2

= 10±
√

0
2

= 10± 0
2

= 10
2 and 10

2
= 5 and 5

The solutions to x2 − 10x + 25 = 0 are: x = r1,2 = 5, 5
Recall Since 5 is repeated, we say that x = 5 is a zero of multiplicity 2.

The reason the two roots are the same is ±0 gives the same number
Having ±0 was a result of b2 − 4ac = 0

http://coobermath.com/Quadratics/Solving_1_Variable/Quadratic_Formula/Building_Quad_formula.pdf
http://coobermath.com/Quadratics/Solving_1_Variable/Factoring/Define_Roots.pdf
http://coobermath.com/Quadratics/Solving_1_Variable/Factoring/Example_4_mult.pdf


Solving the quadratic equation: x 2 − 10x + 25 = 0:
Recall: The Quadratic Formula says r1 and r2 are the roots of:

ax2 + bx + c = 0

r1,2 =
−(b)±

√
(b)2 − 4ac

2a

r1,2 =
−(−10)±

√
(−10)2 − 4 · 1 · 25
2 · 1

= 10±
√

100− 100
2

= 10±
√

0
2

= 10± 0
2

= 10
2 and 10

2
= 5 and 5

The solutions to x2 − 10x + 25 = 0 are: x = r1,2 = 5, 5
Recall Since 5 is repeated, we say that x = 5 is a zero of multiplicity 2.

The reason the two roots are the same is ±0 gives the same number
Having ±0 was a result of b2 − 4ac = 0

http://coobermath.com/Quadratics/Solving_1_Variable/Quadratic_Formula/Building_Quad_formula.pdf
http://coobermath.com/Quadratics/Solving_1_Variable/Factoring/Define_Roots.pdf
http://coobermath.com/Quadratics/Solving_1_Variable/Factoring/Example_4_mult.pdf


Solving the quadratic equation: x 2 − 10x + 25 = 0:
Recall: The Quadratic Formula says r1 and r2 are the roots of:

ax2 + bx + c = 0

r1,2 =
−(b)±

√
(b)2 − 4ac

2a

r1,2 =
−(−10)±

√
(−10)2 − 4 · 1 · 25
2 · 1

= 10±
√

100− 100
2

= 10±
√

0
2

= 10± 0
2

= 10
2 and 10

2

= 5 and 5
The solutions to x2 − 10x + 25 = 0 are: x = r1,2 = 5, 5

Recall Since 5 is repeated, we say that x = 5 is a zero of multiplicity 2.
The reason the two roots are the same is ±0 gives the same number
Having ±0 was a result of b2 − 4ac = 0

http://coobermath.com/Quadratics/Solving_1_Variable/Quadratic_Formula/Building_Quad_formula.pdf
http://coobermath.com/Quadratics/Solving_1_Variable/Factoring/Define_Roots.pdf
http://coobermath.com/Quadratics/Solving_1_Variable/Factoring/Example_4_mult.pdf


Solving the quadratic equation: x 2 − 10x + 25 = 0:
Recall: The Quadratic Formula says r1 and r2 are the roots of:

ax2 + bx + c = 0

r1,2 =
−(b)±

√
(b)2 − 4ac

2a

r1,2 =
−(−10)±

√
(−10)2 − 4 · 1 · 25
2 · 1

= 10±
√

100− 100
2

= 10±
√

0
2

= 10± 0
2

= 10
2 and 10

2
= 5 and 5

The solutions to x2 − 10x + 25 = 0 are: x = r1,2 = 5, 5
Recall Since 5 is repeated, we say that x = 5 is a zero of multiplicity 2.

The reason the two roots are the same is ±0 gives the same number
Having ±0 was a result of b2 − 4ac = 0

http://coobermath.com/Quadratics/Solving_1_Variable/Quadratic_Formula/Building_Quad_formula.pdf
http://coobermath.com/Quadratics/Solving_1_Variable/Factoring/Define_Roots.pdf
http://coobermath.com/Quadratics/Solving_1_Variable/Factoring/Example_4_mult.pdf


Solving the quadratic equation: x 2 − 10x + 25 = 0:
Recall: The Quadratic Formula says r1 and r2 are the roots of:

ax2 + bx + c = 0

r1,2 =
−(b)±

√
(b)2 − 4ac

2a

r1,2 =
−(−10)±

√
(−10)2 − 4 · 1 · 25
2 · 1

= 10±
√

100− 100
2

= 10±
√

0
2

= 10± 0
2

= 10
2 and 10

2
= 5 and 5

The solutions to x2 − 10x + 25 = 0 are: x = r1,2 = 5, 5

Recall Since 5 is repeated, we say that x = 5 is a zero of multiplicity 2.
The reason the two roots are the same is ±0 gives the same number
Having ±0 was a result of b2 − 4ac = 0

http://coobermath.com/Quadratics/Solving_1_Variable/Quadratic_Formula/Building_Quad_formula.pdf
http://coobermath.com/Quadratics/Solving_1_Variable/Factoring/Define_Roots.pdf
http://coobermath.com/Quadratics/Solving_1_Variable/Factoring/Example_4_mult.pdf


Solving the quadratic equation: x 2 − 10x + 25 = 0:
Recall: The Quadratic Formula says r1 and r2 are the roots of:

ax2 + bx + c = 0

r1,2 =
−(b)±

√
(b)2 − 4ac

2a

r1,2 =
−(−10)±

√
(−10)2 − 4 · 1 · 25
2 · 1

= 10±
√

100− 100
2

= 10±
√

0
2

= 10± 0
2

= 10
2 and 10

2
= 5 and 5

The solutions to x2 − 10x + 25 = 0 are: x = r1,2 = 5, 5
Recall Since 5 is repeated, we say that x = 5 is a zero of multiplicity 2.

The reason the two roots are the same is ±0 gives the same number
Having ±0 was a result of b2 − 4ac = 0

http://coobermath.com/Quadratics/Solving_1_Variable/Quadratic_Formula/Building_Quad_formula.pdf
http://coobermath.com/Quadratics/Solving_1_Variable/Factoring/Define_Roots.pdf
http://coobermath.com/Quadratics/Solving_1_Variable/Factoring/Example_4_mult.pdf


Solving the quadratic equation: x 2 − 10x + 25 = 0:
Recall: The Quadratic Formula says r1 and r2 are the roots of:

ax2 + bx + c = 0

r1,2 =
−(b)±

√
(b)2 − 4ac

2a

r1,2 =
−(−10)±

√
(−10)2 − 4 · 1 · 25
2 · 1

= 10±
√

100− 100
2

= 10±
√

0
2

= 10± 0
2

= 10
2 and 10

2
= 5 and 5

The solutions to x2 − 10x + 25 = 0 are: x = r1,2 = 5, 5
Recall Since 5 is repeated, we say that x = 5 is a zero of multiplicity 2.

The reason the two roots are the same is ±0 gives the same number

Having ±0 was a result of b2 − 4ac = 0

http://coobermath.com/Quadratics/Solving_1_Variable/Quadratic_Formula/Building_Quad_formula.pdf
http://coobermath.com/Quadratics/Solving_1_Variable/Factoring/Define_Roots.pdf
http://coobermath.com/Quadratics/Solving_1_Variable/Factoring/Example_4_mult.pdf


Solving the quadratic equation: x 2 − 10x + 25 = 0:
Recall: The Quadratic Formula says r1 and r2 are the roots of:

ax2 + bx + c = 0

r1,2 =
−(b)±

√
(b)2 − 4ac

2a

r1,2 =
−(−10)±

√
(−10)2 − 4 · 1 · 25
2 · 1

= 10±
√

100− 100
2

= 10±
√

0
2

= 10± 0
2

= 10
2 and 10

2
= 5 and 5

The solutions to x2 − 10x + 25 = 0 are: x = r1,2 = 5, 5
Recall Since 5 is repeated, we say that x = 5 is a zero of multiplicity 2.

The reason the two roots are the same is ±0 gives the same number
Having ±0 was a result of b2 − 4ac = 0

http://coobermath.com/Quadratics/Solving_1_Variable/Quadratic_Formula/Building_Quad_formula.pdf
http://coobermath.com/Quadratics/Solving_1_Variable/Factoring/Define_Roots.pdf
http://coobermath.com/Quadratics/Solving_1_Variable/Factoring/Example_4_mult.pdf

